db
s

S (B Ol i 1591 9 CublgS
PV s

X (6397 aos ol ! 13 HE W15 Lady Slas!

-

A

Yiyray s

HIRGAN
( “h NERGY

NISOC
MTO for Bulk Item and Installation Accessories
1Ol ol 0399 GO Ay | o yole | OVugud &y &y 99 Juw A
$ 3 ) dxio oyleds
cOF - VY —A1AE BK GCS |PEDCO| 120 IN MT 0001 DOo1
O30 YY adgi g8l g cblogSS b
MTO FOR BUIK ITEM AND INSTALLATION ACCESSORIES
O S Ol Adad (ol 81 9 CulblugS
D01 JUNE.2023 IFI P.Hajisadeghi | M.Fakharian | A.M.Mohseni
D00 JUNE.2022 IFI P.Hajisadeghi | M.Fakharian| M.Mehrshad
Rev. Date Purpose of Issue / Status Prepared by: Checked by: Approved by: CLIENT Approval
Class: 3 CLIENT Doc. Number: 'F8Z-708978
status:

IDC: Inter-Discipline Check

IFC: Issued For Comment

IFA: Issued For Approval

AFD: Approved For Design

AFC: Approved For Construction

AFP: Approved For Purchase

AFQ: Approved For Quotation

IFI: Issued For Information

AB-R: As-Built for CLIENT Review

AB-A: As-Built -Approved




by it (5 Oloige g5 1381 9 CadlongS @
KLY s oAt
i (597 o oliuyl 13 37 o515 Ly Sl (“%‘115%%1?
NISOC
MTO for Bulk Item and Installation Accessories
(Olow oslels| o3y G i | o y0lo | DMgud Ay & e £¢ Jbw Aud
£ Y tdmio oylod
sOF - Y —a1AL BK GCS |PEDCO| 120 IN MT 0001 D01
REVISION RECORD SHEET
Page D00 D01 D02 D03 D04 Page D00 D01 D02 D03 D04
1 X X 5
2 X X 06
3 X X 7
4 X X o1}
5 9
[¢) 0
7 /1
3 /2
/3
/4
/5
12 /6
3 17
14 /3
5 9
16 30
7 31
13 32
9 83
0 34
21 85
22 36
23 S/
24 33
25 89
26 90
27 91
28 92
9 93
30 94
1 95
32 96
3 97
4 93
5
36 100
7 1
38 102
9 3
0 104
1 5
2 106
3 7
4 [0
5 9
6 110
7 1
3 112
9 3
0 114
51 5
52 116
53 7
24 [1s
55 9
26 120
57 21
> 122
9 23
24
1 25
2 26
3 2/
a4 28




b
ey p N

S (A Ol W95 a1 9 CdlugS
eV

S (59T @0 ol 33 J7 @515 L dy Slust

-

.

Sy SN

HIRGAN
( ‘I‘ NERGY

NISOC
MTO for Bulk Item and Installation Accessories
(Olow oslol| 059y [l Ay o yolo | Igus L3 e Eg8 Jb LE o)
£ 31 Y tamio ool
<O - oYF—11AL BK | GCS | PEDCO| 120 IN MT 0001 D01

Reference Documents

TYPICAL INSTRUMENT INSTALLATION DRAWING
SPECIFICATION FOR INSTRUMENTS

PANEL & JUNCTION BOX LIST

INSTRUMENT INDEX

General Notes

BK-GCS-PEDCO-120-IN-DW-0001-D01
BK-GNRAL-PEDCO-000-IN-SP-0001-D04

BK-GCS-PEDCO-120-IN-LI-0005-D02
BK-GCS-PEDCO-120-IN-L1-0001-D02




PV

S (G Ol Ml gi [ 3B1 9 bl

-

Dpyiie i

S (89T ol 38 J 515 L dy Slvs HIRGAN
NISOC Z DO1 2 (5291 o ol 53 5 5715 3 &
p—————
MTO for Bulk Item and Installation Accessories
Oloy ooledf 039 [ (G 4wy [ ouisTisle | D )y e £g8 Jb Al
£318 1aomio o lads
AL — - YF¥ - .o BK GCS PEDCO 120 IN MT 0001 D01
Total Total QTY
ITEM Description Material oTY Unit + 20% Remark [ Rev
Spare
1 PIPE 2", SCH 40 (L:1600MM) CARBON 171.2 M 205.44 01
STEEL
2 CAP 2", SCH 40 CARBON 107 PIECES 128.40 01
STEEL
3 PLATE , 250x250x10(mm) CARBON 107 PIECES 128.40 01
STEEL
4 EXPANSION BOLT , M10 X 100L CARBON 428 PIECES 513.60 01
STEEL H.D.G.
5 STEEL ANGLE , L 30x30x3t , SCH40 C/ﬁE(EDLN 58.85 PIECES 70.62 01
" CARBON
6 U BOLT & NUT WITH SPRING WASHER FOR 2" PIPE 214 PIECES 256.80 01
STEEL H.D.G.
7 STIFFENER PLATE , 80X200X6T CARBON 428 PIECES 513.60 01
STEEL H.D.G.
8 EQUAL ANGLE , 50X50X5T CARBON 76 PIECES 91.20 01
STEEL
9 U-CHANNEL , 100X45X5T CARBON 114 PIECES 136.80 01
STEEL
CARBON
10 BOLT, NUT & WASHER FOR FIXING JUNCTION BOX ON ANGLE , M8X20L STEEL 152 PIECES 182.40 01
11 U-CHANNEL ,100X45X5T CARBON 76 PIECES 91.20 01
STEEL
CARBON
12 EARTH LUG FLAT BAR,TWO HOLES #6.5MM ,100X50X6T STEEL 38 PIECES 45.60 01
13 CONDUIT, 1" CARBON 1712 M 2054.40 01
STEEL H.D.G.
14 FLEXIBLE CONDUIT, 1" CARBON 107 M 128.40 01
STEEL H.D.G.
15 CONDUIT STRAP, 1" CARBON 428 PIECES 513.60 01
STEEL H.D.G.
16 SCREW & FIBER/PLASTIC PLUG , M8 Ci'FI{'ESLN 3210 PIECES 3852.00 01
17 SCREW & FIBER/PLASTIC PLUG , M10 C’ﬁEg—N 856 PIECES 1027.20 01
CARBON
18 CONDUIT BOX WITH ROLL BOLTS , 100X100X50MM 214 PIECES 256.80 01
STEEL H.D.G.
19 ANGLE , 60X60X6T CARBON 150 M 180.00 01
STEEL
20 PLATE , 150X150X4T CARBON 100 PIECES 120.00 01
STEEL
21 BOLTS & NUTS , M8 CARBON 100 PIECES 120.00 01
STEEL H.D.G.
22 CONDUIT BEND , 1" CARBON 25 M 30.00 01
STEEL H.D.G.




